Business Systems  Exam Practice
11 marks

1. Which of the following may be an indication of an ineffective Customer relationship Management (CRM) Process in a business?: (1mark)

a) Increased customer base
b) Increased customer loyalty
c) Increased customer complaints 
d) Increased Sales



[bookmark: _GoBack]2. A legal company uses helpdesk software to support its customers.  Explain the benefits and limitations of the legal company using helpdesk software [10marks]
































Answers:
1. C
2. [image: 256 SSD:Users:imac:Desktop:Screen Shot 2017-11-29 at 22.06.23.png]
image1.png
21

Answers may include
Benefits
« Ability to keep track of
issues/requests for support

« Abliity to monitor performance
of helpdesk personnel

« Audit log of actions taken by
support personnel

« Ease of communication about
problem with end user

« Call history so common issues
can be identified/fixed pro-
actively

Limitations

« Administrative burden of
keeping tickets/job numbers
up to date

« Staff feeling like they are being
monitored

« Rigid structure for support

« Time taken to deal with ‘quick’
issues

« Knowledge base takes time to
build uplcan go out of date
quickly

[1o]

7-10

The learner has explained both benefits and limitations of RGIS' use
of helpdesk software. Answers will be in context.

Subject specific terminology and knowledge will be clearly used to
support and inform the explanations.

4-6

The learner has described benefit(s) and/or limitation(s) of RGIS use
of helpdesk software. At the top of the mark band, the answer will be
in context.

At the bottom of the mark band, a single benefit/limitation may be
described.

Some subject specific terminology and knowiedge will be used.
The learner has identified points about RGIS use of helpdesk
software. The answer may not be in context.

At the bottom of the mark band, a single point may be identified.
Subject specific terminology may be limited or missing.
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